

## BOARD Metro Graphic Services RFP 860 Phase 4 Evaluator Template Composite

	AVAILABLE POINTS	25	10	20	25	10	10	100	
			REPUTATION OF			VENDOR PAST			
				QUALITY OF GOODS	GOODS & SERVICES	RELATIONSHIP WITH	LONG-TERM COST		
#	VENDOR NAME	PURCHASE PRICE	SERVICES	& SERVICES	MEET FISD NEEDS	FISD	TO FISD	TOTAL SCORE	AVEREAGE SCORE
1	Metro Graphic Services	75	30	60	75	30	30	300	100.0



## BOARD Metro Graphic Services RFP 860 Phase 4 Evaluator Template Evaluator #1

	AVAILABLE POINTS	25	10	20	25	10	10	100
			REPUTATION OF VENDOR & GOODS &	QUALITY OF GOODS &	GOODS & SERVICES	VENDOR PAST RELATIONSHIP WITH	LONG-TERM COST TO	
#	VENDOR NAME	PURCHASE PRICE	SERVICES	SERVICES	MEET FISD NEEDS	FISD	FISD	TOTAL SCORE
1	Metro Graphic Services	25	10	20	25	10	10	100



## BOARD Metro Graphic Services RFP 860 Phase 4 Evaluator Template Evaluator #2

	AVAILABLE POINTS	25	10	20	25	10	10	100
			REPUTATION OF			VENDOR PAST		
			VENDOR & GOODS &	QUALITY OF GOODS &	GOODS & SERVICES	RELATIONSHIP WITH	LONG-TERM COST TO	
#	VENDOR NAME	PURCHASE PRICE	SERVICES	SERVICES	MEET FISD NEEDS	FISD	FISD	TOTAL SCORE
1	Metro Graphic Services	25	10	20	25	10	10	100



## BOARD Metro Graphic Services RFP 860 Phase 4 Evaluator Template Evaluator #3

	AVAILABLE POINTS	25	10	20	25	10	10	100
			REPUTATION OF VENDOR & GOODS &	QUALITY OF GOODS &	GOODS & SERVICES	VENDOR PAST RELATIONSHIP WITH	LONG-TERM COST TO	
#	VENDOR NAME	PURCHASE PRICE	SERVICES	SERVICES	MEET FISD NEEDS	FISD	FISD	TOTAL SCORE
1	Metro Graphic Services	25	10	20	25	10	10	100